SELF ASSESSMENT FOR YEAR 2022-2023 ANNEXURE-A

Annapurna (UP ID-3536),

ACJ(JD)/JM NO.-6, Bijnor for the period from 01/04/2022 to 04/07/2022. CJ(JD)/FTC-2, Bijnor for the period from 05/07/2022 to 31/03/2023.

Total Days- 365

Sl. No.	Days/Holidays	D
1-	Sundays, Second & Fourth Saturdays	Days
2-	Casual leave Componentory Javana L. 2. 57	66
3-	Casual leave, Compensatory ,Journey leave & EL Holidays and Local holidays	33
4-	Winter vacation	19
5-		6
	Recess with Sunday	10
6-	Training	5
	Total	139 Days
Rest Wor	orking days (365-139) = <u>226 Days</u>	
Cotal uni	nits is required to be given (Targetted Units) = 226*3.28:	= 741 28 Units
Rest Wor Fotal uni	Total orking days (365-139) = <u>226 Days</u> hits is required to be given (Targetted Units) = 226*3.28	

Details of achieved units of Criminal work

NO. of Cases	<u>Head</u>	<u>Units</u>
44	Criminal Cases Disposed Contested (Judgement) @ 6 Unit per case + incentive (2 Cases disposed 5 years old @ 1 unit, 1 Cases disposed 10 years old @ 2 unit & 1 Cases disposed 20 years old @ 3 unit)	264.00+7(Incentive) = 271
104	Framing of Charge @ 0.5 unit per charge	52.00
50	Statement recorded u/s 313 CrPC @ 0.5 unit per case	
407	Statement recorded u/s 200 & 202 CrPC @ 0.5 unit per Statement	25.00 203.50
560	Cases dismissed u/s 203 CrPC @ 1 unit per case	560.00
23	Cases decided (In which accused is discharged) u/s 239 or 245 CrPC @ 1 unit for every 5 case	04.60
4	Cases Compounded u/s 320 CrPC @ 2 unit per case	00.00
2	Cases Disposed u/s 257 & 258 CrPC after some evidence has been recorded. @ 2 unit per case with incentive (1 Cases disposed 20 years old @ 1.50 unit)	08.00 05.50
141	Application u/s 156(3) CrPC disposed @1 unit per application	141.00
11	Application u/s 311 CrPC& 319 CrPC disposed @ 1 unit per application	11.00
2	Cases Disposed u/s 299 CrPC @ 1 unit per case	02.00
56	FR Disposed/Accepted @ 1 unit for every 3 cases	02.00
12 Months	Statement recorded u/s 164 CrPC @ 10 Unit per month	18.66 120.00
66	Criminal Cases disposed otherwise (u/s 204(4), Abated, Confess & Quash)	No Credit
	Total	1422.26



Details of achieved units of Civil work

NO. of Cases	<u>Head</u>	<u>Units</u>
12	Exparte Judgement @ 1 unit per case	12.00
6	Contested Judgement @ 8 unit per case + incentive (1 case disposed 5 years old @ 1.5 unit & 2 cases disposed 10 years old @ 3 unit)	12.00 48.00+7.50(Incentive =55.50
01	Case disposed (Succession) Contested case @ 4 unit per case	04.00
19	Withdrawal of case @ 2 unit per case	20.00
05	Framing of issue @ .50 unit per case	38.00
02	Compromise Decree @ 2 unit per case	02.50
80	Application disposed as Substitution	04.00
	Application disposed as Substitution, Amendment & Rejection of Plaint @ 2 unit per Application	16.00
02	Execution cases disposed where decree is satisfied @ 3 unit per case	06.00
02	Injunction Application @2 unit per contested application	04.00
85	Cases disposed by O.9 R.3 & O.9 R.8 CPC	04.00
	Total	NO Credit
		142.00Units

Administrative/ Misc Work

9 Months	Bail and remand work @ 10 unit per month	
12Months	Criminal miscellaneous work @ 2 unit per month	90.00
4	Quarterly Inspection @ 10 unit in a Quarter	24.00
658 Pages	Recording of Evidence O.1.	40.0
29 Days	Recording of Evidence @ 1 unit for every 10 pages	65.80
25 Duys	Link officer @ 3 Unit for each day	87.00
	Data entry and uploading the data on NJDG data base @ 0.25 units per working day(for April to August)= (96 working days *0.25) = 24.00 unit	84.00
	Data entry and uploading the data on NJDG data base @ 2 units per week (for September to March)= 30 week *2 = 60 unit 24.00+ 60.00=84.00	
	Total	
		<u>390.80</u>

Grand total of units achieved along with percentage of all type of work

Nature of work	
Criminal work	<u>Units</u>
Civil work	1422.26
Administrative/misc. work	142.00
Total units achieved	390.80
Total units Targeted	<u>1955.06</u>
Percentage of units achieved	741.28
	264 %

Annaparna)
CJ(JD)/FTE-2, Bijnor

SELF ASSESSMENT FOR YEAR 2022-2023 ANNEXURE-B Annapurna (UP ID-3536), CJ(JD)/FTC-2, Bijnor

As per General Letter no. 11/ IV-h-14/2022 dated 18.08.2022, Hon'ble High Court has directed to give 600/500 Units from the final disposal of a case which actually goes into pendency reduction. For the period officer has not worked, these units shall be adjusted on lesser side on pro-rata basis.

Full Year/ Assessment year (April 2022 to March 2023)	600 Unit required in pendency reduction
September 2022 to March 2023	600*7/12=350 Unit required in pendency reduction
Standard No. of Days (September 2022 to March 2023)	212 days
Unit requirement per day	350/212=1.65 unit
Actual Working days (September 2022 to March 2023)	130 days
Unit required (September 2022 to March 2023)	130*1.65= <u>214.50 unit</u>
Actual Units Achieved by pendency reduction (September to March)	771.50 Unit

Details of Actual Units Achieved by pendency reduction

NO. of Cases	<u>Head</u>	<u>Units</u>
37	Criminal Cases Disposed Contested (Judgement) @ 6 Unit per case + incentive (2 Cases disposed 5 years old @ 1 unit, 1 Cases disposed 10 years old @ 2 unit & 1 Cases disposed 20 years old @ 3 unit)	222+7(incentive)=229
350	Cases dismissed u/s 203 CrPC @ 1 unit per case	350
20	Case decided (In which accused is discharged) u/s 239 or 245 CrPC @ 1 unit for every 5 case	4.00
	Cased Compounded u/s 320 CrPC @ 2 unit per case	8.00
	Cases Disposed u/s 257 & 258 CrPC after some evidence has been recorded. @ 2 unit per case with incentive (1 Cases disposed 20 years old @ 1.50 unit)	5.50
101	Application u/s 156(3) CrPC disposed @1 unit per application	101.00



	Total Units	771.50
2	Execution cases disposed where decree is satisfied @ 3 unit per case	6.00
13	Withdrawal of case @ 2 unit per case	26.00
2	Contested Judgement @ 8 unit per case	16.00
9	Exparte Judgement @ 1 unit per case	9.00
45	FR Disposed/Accepted @ 1 unit for every 3 cases	15.00
2	Cases Disposed u/s 299 CrPC @ 1 unit per case	2.00

(Annapurna)
CJ(JD)/FTC-2, Bijnor